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1. ���/� 

�
�?��@�����6�;��?�
���
=���������F����
G���>�?�
��ก�
�=�ก�;�
�?��?FKE��;=�� 6A�?PF��
��>����E�ก�
�=�
���>���
�?��@��ก�;����
�
�Q
�
������@���
�������� (@��-���) 6A�J��>���T 
2543-2545 ก�
�=�
���>���
�?��@��-��� ������>�
�
�����T�� 18,000-22,000 �=��;�� X9E��>��J�Y>
G�=��
�?��@���>���ก@��
�?�����6A�������>� 
12,000-14,000 �=��;�� J��T 2548 ������>�
�� 
40,092 �=��;�� G���T 2549 ก�
�=�
���>���
�?��
@��-��� ������>�
�� 57,583.3 �=��;�� (ก
��
��
F������, 2552) ?F�E�<97�
=���� 43.63 ��ก�T 2548 6A�
ก�
�
��
�ก8���AGB�����
>���K�
���>��ก
��
��
F������<���
�?��@��G���
�?�����
���>�������E 
25-27 ������� 2549 @A=��7�?�[�����?F�E�����>�ก�
�=�

��7����\]��?�D� 2 ?�>����J��T 2553 ����=��>���ก��E
�8���Y<���
�?��@��@��
�?����� @A=Gก> �78����
�8�?
L�
�� ?��Lก ?��Lกก�=� ?�K7�B=� G��
H���� ����=�
�8�?<=���E�8���Y<���
�?��@����ก�
�?����� @A=Gก> 
@�=X
� @�=G�

�� G��@�=�KE� ^ B������_���ก@�= H>��
��� ?�
KE����ก
@II[�G���>���
�ก�; ���G
>6���G��
?�:6��� 

6�
�ก�
��7���8�ก�
�9ก:�
�;;6������ก��<��
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�=�
���>���
�?��@��-��� 6A��9ก:�?�=����
ก�
�=�B> ���� ����A������� X9E � ?�D��� ����A��E��
�����8���YJ�A=��ก�
�8�?<=�G���>���ก �
�?������=�
�8�?<=�G���>���กJ��T 2550-2551 F;�>�����=��8�?<=�
������A�;G
ก�K� @�=G�

��G�����@I�
�ก�;
H���� 
(A>���
�ก�ก
�������, 2552) ����=��>���ก������A�;
G 
 ก �K �  �78 � �� � ? �K7 � ? F �� � G � � 
 H � � �� 



(A>���
�ก�ก
�������, 2552) 6A������
��>��
=���� 
80.57 G�� 60.71 <������=��8�?<=� G�����
��>��
=��
�� 69.57 G�� 70.14 <������=��>���ก<������>�
��
��7���A����8�A�; X9E�����=��8�?<=�G���>���ก��7����
���A�;��7 ���8����8�ก�
�9ก:�?�
��;?���;
�;;6���
���ก��
���>��?�=����ก�
�=���EB>�������F�����
��F
@��-���G�>���E 1 ก�;?�=����
H@I�������-�>���
G�=� �C��
;��?�=���� 6������ก��<��ก�
�=�
���>��
�
�?��@��-��� B>��������A���������7�?�D�?�=����
��EB>�������F�����
��F@��-���G�>���E 1 G��J�
?AK�������� 2552 ?�=����
H@I�������-�>���G�=� 
?�=����
���>���
�?��@��-���?�=�J��>������ก
?�=������9E�X9E���A@A=�>�?�D����?�K�ก��ก���?�K�ก��9E�
J�ก�
<��>�����=��
K�B�=6A���
��E��?A�����?<=���ก

���>���
�?��@��ก�;�
�?����� 
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A8�?������6������ก��ก�
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<��>����H��G��ก�
<��>����
�� A=��
������ 
?��� G��<=�����=��
�6������ก�� @A=?กL;
�;
��<=����
��กก�
�����:��G���K;�=� ��ก���B�=�
�ก�;ก�
 B�=
J�=;
�ก�
<��>� G��Q��<=�������?��
�?�� <=������E@A=
���8����8�����=��
�Q��ก��ก

�?FKE����=��
���E��
����H�ก�=��G��Jก�=?������กก�
�8�ก��ก

�6������ก��
��E ?ก��<97��
�� 6A�ก�
�8�����=��
�Q��ก��ก

� 
(Activity-based costing: ABC) ��7����8�ก�
G�กG��
ก��ก

�?FKE���E��
�;
�=��
��
�F��ก
?<=���>ก��ก

�
�>��^ 6A�G;>��=��
�?�D� 3 �>�� (��QF� F�F��
�
�F�h��, 2553)  �K� (1) �=��
�<�7��=� (Initial Cost) 
(2) �=��
��>�A8�?���ก�
 (Operating Cost) G�� (3) 
�=��
�ก�
?A��
H (Running Cost) <=����ก�
�8����
�=��
�Q��ก��ก
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�6������ก��<��ก�
<��>�
���H��G��ก�
<��>����
�� ����=�@�=G�

�� ���@I

�
�ก�;
H���� �78���� G��
H���� ����������7@A=�8�ก�

?�
��;?���;�=��
�6������ก����ก�>�J�=�>�����ก 2 
�
�?�� X9E��
�ก�;@�A=�� �=��
��>�A8�?���ก�
G��
�=��
�ก�
?A��
H �>���=��
�<�7��=���@�>�8���F���
�� 
?�KE����ก�=��
�<�7��=���7�@A=�8�@���A?�D��>�?�KE��
���
J�ก�
�8�����=��
��>�A8�?���ก�
?
��;
=��G�=� 6A���E
�
���� �78����ก G���
����
��E�8���?�
��;?���;
�;; 
6������ก��ก�
<��>����H��G��ก�
<��>����
��J�=
Q��ก�
�8 ����?A���ก��  ��
����E  1 G�A�ก�

?�
��;?���;�=��
�6������ก��<��ก�
<��>����H��G��
ก�
<��>����
�� G;>�����>�J�=�>�����ก ��
����E 2 
G�A�ก�
?�
��;?���;
�;;6������ก��ก�
�=�@��-��� 

���>��B>����F�����
��F@��-���G�>���E 1 G��B>��
?�=����
H@I�������-�>���G�=� ��ก��
����E 1 G�� 
2 F;�>� 
�;; 6������ก��<������=�@�=G�

��ก�
<��>�
���H��J�=
������ 1,451 ก�6�?��
G��J�=?��� 2,490 
���� J�<����Eก�
<��>����
��J�=
������ 1,375 
ก�6�?��
G��J�=?��� 2,835 ���� �=��
�6������ก��<��
ก�
<��>����H�� 19,058 ;�� J�<����E�=��
�6���
���ก��<��ก�
<��>����
�� 13,980 ;�� �8��
�;����=�
���@I�
�ก�;
H���� ก�
<��>����H��J�=
������ 
1,489 ก�6�?��
G��J�=?��� 2,450 ���� J�<����Eก�

<��>����
��J�=
������ 1,415 ก�6�?��
 G��J�=?��� 
2,685 ���� �=��
�6������ก��<��ก�
<��>����H�� 
17,949 ; � �  J � < � � ��E �= � �
 � 
6������ก��<��ก�
<��>����
�� 13,338 ;�� �8��
�;
����=��78���� ก�
<��>����H��J�=
������ 1,600 
ก�6�?��
G��J�=?��� 2,405 ���� J�<����Eก�
<��>�
���
��J�=
������ 1,649 ก�6�?��
 G��J�=?��� 3,080 
����  
��
����E 1. ก�
?�
��;?���;�=��
�6������ก��<��ก�
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1. �= ��
 ��> �
A8�?���ก�
G���=��
�

 
 

 
 

 
 

 
 



ก�
?A��
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1.1 �=��
��> �
A8�?���ก�
 

    

- �>�G
����@��G��
��� 

1,772 2,959 1,537 1,978 

- �>�?�>�FK7���EJ�=��� 195 520 110 426 
- �> � �
 �ก
��
���F��?��
� 

41 86 244 18 

- �> � ? �KE � � 
 � � �

H;

�
ก 

3,425 545 2,458 366 

- �>�?�KE��
���
H@I - 5,126 - 5,126 
- �> � ? �KE � � 
 � � �
�
�ก
��;

�
���_� 

215 215 600 670 

� � ! �� � �+ �
./�����ก�� 

5,648 9,451 4,949 8,584 

1.2 �=��
�ก�
?A��
H     

- �>��78����?�K7�?F���

H;

�
ก 

9,057 749 8,831 949 

- �>��78����?�K7�?F���

H@I 

- 910 - 847 

- �> � X> � � ;8 � 

 �

H;

�
ก 

2,902 240 2,680 288 

- �>�X>��;8�

�
H@I - 2,510 - 2,510 
- �>����
H���� 1,451 120 1,489 160 

��!����+�ก���.��
�& 

13,410 4,529 13,001 4,754 

� � ! �� � �+ � �� �
./ � � �� � ก � � # � 

����+�ก���.���& 

19,058 13,980 17,949 13,338 

 
�=��
�6������ก��<��ก�
<��>����H�� 14,886 

;�� J�<����E�=��
�6������ก��<��ก�
<��>����
�� 
13,320 ;�� �8��
�;����=�
H���� ก�
<��>����H��
J�=
������ 1,505 ก�6�?��
G��J�=?��� 2,455 ���� 
J�<����Eก�
<��>����
��J�=
������ 1,485 ก�6�?��
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����E 1. ก�
?�
��;?���;�=��
�6������ก��<��ก�

<��>����H��G���=��
�ก�
<��>����
�� G;>����
�>�J�=�>�����ก (�>�) 

�>�J�=�>�����ก 
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�� H�� 
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1. �= ��
 ��> �
A8�?���ก�
G���=��
�

 
 

 
 

 
 

 
 

ก�
?A��
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1.1 �=��
��> �
A8�?���ก�
 

    

- �>�G
����@��G��
��� 

1,421 1,806 1,568 1,706 

- �>�?�>�FK7���EJ�=��� 130 296 170 499 
- �> � �
 �ก
��
���F��?��
� 

22 11 32 21 

- �> � ? �KE � � 
 � � �

H;

�
ก 

1,583 281 3,272 421 

- �>�?�KE��
���
H@I - 5,647 - 4,876 
- �> � ? �KE � � 
 � � �
�
�ก
��;

�
���_� 

58 145 - - 

� � ! �� � �+ �
./�����ก�� 

3,214 8,186 5,041 7,523 

1.2 �=��
�ก�
?A��
H     

- �>��78����?�K7�?F���

H;

�
ก 

7,192 867 8,197 884 

- �>��78����?�K7�?F���

H@I 

- 944 - 910 

- �> � X> � � ;8 � 

 �

H;

�
ก 

2,880 344 2,863 280 

- �>�X>��;8�

�
H@I - 2,788 - 2,510 
- �>����
H���� 1,600 191 1,503 140 

��!����+�ก���.��
�& 

11,672 5,134 12,563 4,723 

� � ! �� � �+ � �� �
./ � � �� � ก � � # � 

����+�ก���.���& 

14,886 13,320 17,604 12,246 

 
G��J�=?��� 2,765 ���� �=��
�6������ก��<��ก�
<��>�
���H�� 17,604 ;�� J�<����E�=��
�6������ก�� <��
ก�
<��>����
�� 12,246 ;�� ��ก��
����E 2 J�ก
��
��E����=�?�D�����=��
�?���KE�^ ��E@�>J�>����=� @�=G�

�� 
���@I�
�ก�;
H���� �78���� G��
H���� 
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��;?���;
�;;6������ก��ก�
<��>�
���H��G��ก�
<��>����
�� 

�
�?�������7��A 
 

@�=G�

�� ���@I�
�ก�;

H���� 

H�� 
�� H�� 
�� 


������ (ก�.) 1,451 1,375 1,489 1,415 

?��� (����) 2,490 2,835 2,450 2,685 
�>�J�=�>�� (;��) 19,058 13,980 17,949 13,338 
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�� H�� 
�� 


������ (ก�.) 1,600 1,649 1,505 1,485 

?��� (����) 2,405 3,080 2,455 2,765 
�>�J�=�>�� (;��) 14,886 13,320 17,604 12,246 
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ก��J�=@A= �K� �>�G
����
@��G�����  �> � ? �> �FK7 ���E J �= ���  �> � �
 �ก
��
���F��?��
� (���ก�;�
������EJ�=�
��<������=��KE�^) 
�>�?�KE��
���
H;

�
ก �>�?�KE��
���
H@I �>�?�KE��

����
�ก
��;

�
���_�  (H=�J�=F�����
�?��
?A���ก��G���
�ก
��;

�
���_�?��K��ก��) �>��78����
?�K7�?F���
H;

�
กG��
H@I (H=�;

�
ก�78����ก
?�>�ก��) �>�X>��;8�

�
H;

�
กG��
H@I �>����

H���� (H=�J�=F�����
�?��?A���ก��)    

��กก�
?�
��;?���;
�;;6������ก�� F;�>� 
���
���ก�
<��>����H��<������=�@�=G�

�����>�
��กก�>�
������ก�
<��>����
��
=���� 5 
���
���ก�
<��>����H��<������=����@I�
�ก�;

H�������>���กก�>�
������ก�
<��>����
��
=���� 
3 
������ก�
<��>����H��<������=��78�������>�
��กก�>�
������ก�
<��>����
��
=���� 7 G��

������ก�
<��>����H��<������=�
H�������>�
��กก�>�
������ก�
<��>����
��
=���� 1 X9E���?�L�
@A=�>�
������<��ก�
<��>���7�����������>�Jก�=?����ก��
��ก ��7���7?�KE����ก?�=�������H��G�����
����
?�=�������>J�G��?A���ก�� ��กก�
?�
��;?���;

���?��� F;�>� ?���ก�
<��>����H��<������=�@�=
G�

�����>��=��ก�>�?���ก�
<��>����
��
=���� 12 

?���ก�
<��>����H��<������=����@I�
�ก�;

H�������>��=��ก�>�?���ก�
<��>����
��
=���� 9 
?���ก�
<��>����H��<������=��78�������>��=��ก�>�
?���ก�
<��>����
��
=���� 1 G��?���ก�
<��>�
���H��<������=�
H�������>��=��ก�>�ก�
<��>����

��
=���� 11 ��กก�
?�
��;?���;
���?��� F;�>� 
����?
L�?P��E�ก�
?A��
H���H�����>�?P��E����ก�>�
����?
L�<��ก�
?A��
H���
�� 6A�����?
L�?P��E�

H;

�
ก���
���� 80 ก�6�?��
�>���E�6�� G��
����?P��E�
H@I���
���� 50 ก�6�?��
�>���E�6�� 
?�D�B��8�J�=ก�
<��>����H��J�=?����=��ก�>�ก�

<��>����
�� ��ก��ก��7J�ก�
<��>����H����
����
H<��> � @A=��7 �G�> �
 A ?
�E ��=���ก
���E �H9 �
������� (Door to Door) J�<����Eก�
<��>����
��
��7���<=��8�ก�AJ�ก�
<��>� �8�J�=ก�
<��>�
��G;;��7
�8�?�D��=��J�=ก�
<��>�����
��G;;�
�ก�;ก�� 
(Multimodal) X9E��8�J�=�=��?���?���J�ก�
<�H>��
����<�7����  

J��>��<���=��
�6������ก��  F;�>� �=��
� 
6������ก��<��@�=G�

��ก�
<��>����H�����>�
��กก�>��=��
�<��ก�
<��>����
��
=���� 27 
�=��
�6������ก��<�����@I�
�ก�;
H����ก�
<��>�
���H�����>���กก�>��=��
�<��ก�
<��>����
��
=��
�� 26 �=��
�6������ก��<���78����ก�
<��>����H����
�>���กก�>��=��
�<��ก�
<��>����
��
=���� 11 
�=��
�6������ก��<��
H����ก�
<��>����H�����>�
��กก�>��=��
�<��ก�
<��>����
��
=���� 30 ��ก
ก�
?�
��;?���;�=��
�6������ก�� F;�>� ก�
<��>����
H���=��
�6������ก�����ก�>�ก�
<��>����
���
ก
�
�?������=� 6A�?PF���=��
�ก�
?A��
H X9E �
�
�ก�;@�A= ���> ��78 ���� ?�K7 � ?F�� � 
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��;?���;
�;;6������ก��ก�
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��� F;�>� �=��
�6������ก��ก�
<��>����H�����>�
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�<��ก�
<��>����
�� 
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<��>����H����
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<��>����
�� J�<����E
���?�����EJ�=J�ก�
<��>����
H���=��ก�>�
���?���ก�
<��>����
�� A����7�B�=�����
�9��8�ก�
 �9ก:�?�
��;?���;H9������
=��>�<��?�����E
J�=��ก<97�J�ก�
<��>����
��ก�;�=��
�6������ก����E��
�>��E8��� 6A�?�����EJ�=J�ก�
<��>���ก<97���7����>�B�
ก
��;�>���������
HJ�ก�
��;��������
�=��ก�
<����ก�=� (Responsiveness) ��>��@
กL��� 
��ก��ก�
���GB���EA�G�=� ��������
HJ�ก�

��;���������=��ก�
<����ก�=�@�>�>������>��A��
��ก��ก G�>?�KE���?�����EJ�=J�ก�
<��>�?F�E���ก<97� ��
�8�J�=�=��
�HK��
������=� (Holding Cost) ���>�
?F�E�<97� A����7� �=��
�6������ก��<��
��G;;ก�
<��>�
���
����
����ก�
�8��9�H9��=��
�HK��
������=�A=�� 
6A��=��
�HK��
������=���7���8������ก�>�?���6�ก��
<��?������
� (Opportunity Cost) X9E��8������ก
����>�<������=����ก�;���
���A�A�>��T ������ก��7�
�8������ก�;�8����������EJ�=?F�E�<97�G����
ก�;?��� 
X9E��>���E@A=��ก��กก�
G�����>��<���T?�D����� (360 
���/�T 24 ��E�6��/��� 60 ����/��E�6��) ก8���AJ�=���
�
��A�A�>��T���>�?�>�ก�; 5 ?��
�?XL����>��T 

�8��
�;����>�����=�@�=G�

�� 30 ��� ��กก�

�����:��F;�>� ����>�����=�A��ก�>�����>�?�>�ก�; 
75,000 ;�� A����7� �=��
�HK��
������=� (Holding 
Cost) ��E?F�E�<97�<��
��G;;ก�
<��>����
�����>�
?�>�ก�; 2.48 ;�� ?�KE�
��ก�;�=��
�6������ก��ก�

<��>����
�� 13,980 ;�� ��?�>�ก�; 13,982.48 ;�� 
X9E�����=��ก�>��=��
�6������ก��ก�
<��>����H����E��
�= � �
 � 
6������ก�� 19,058 ;�� �8��
�;����>�����=����@I
�
�ก�;
H���� 336 ก�;� ��กก�
�����:�� F;�>� 
����>�����=�A��ก�>�����>�?�>�ก�; 504,000 ;�� A����7� 
�=��
�HK��
������=� (Holding Cost) ��E?F�E�<97�<��

��G;;ก�
<��>����
�����>�?�>�ก�; 11.28 ;�� ?�KE�

��ก�;�=��
�6������ก��ก�
<��>����
�� 13,338 
;�� ��?�>�ก�; 13,349.28 ;�� X9E�����=��ก�>�
�=��
�6������ก��ก�
<��>����H����E���=��
�6���
���ก�� 17,949 ;�� �8��
�;����>�����=��78���� 38,000 
���
 ��กก�
�����:��F;�>� ����>�����=�A��ก�>�����>�
?�>�ก�; 1,444,000 ;�� A����7� �=��
�HK��
������=� 

(Holding Cost) ��E?F�E�<97�<��
��G;;ก�
<��>����

�����>�?�>�ก�; 93.83 ;�� ?�KE�
��ก�;�=��
�6���
���ก��ก�
<��>����
�� 13,320 ;�� ��?�>�ก�; 
13,413.83 ;��  X9E � �� � �= �� ก�> � �= ��
 � 
6������ก��ก�
<��>����H����E���=��
�6������ก�� 
14,886 ;�� �8��
�;����>�����=�
H���� 7 ��� ��ก
ก�
�����:��F;�>� ����>�����=�A��ก�>�����>�?�>�ก�; 
4,760,000 ;�� A����7� �=��
�HK��
������=� (Holding 
Cost) ��E?F�E�<97�<��
��G;;ก�
<��>����
�����>�
?�>�ก�; 142.32 ;�� ?�KE�
��ก�;�=��
�6������ก��ก�

<��>����
�� 12,246 ;�� ��?�>�ก�; 12,388.32 ;�� 
X9E�����=��ก�>��=��
�6������ก��ก�
<��>����H����E��
�= � �
 � 
6������ก�� 17,604 ;�� A��G�A�J���
����E 3 
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�HK��
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�� H�� 
�� 

�=��
�6������ก�� 19,058 13,982 17,949 13,349 
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<��>����H��?�D�ก�
<��>����
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�=��
�6������ก���
����A@A=?�>�ก�;
=���� 27 <��
����>�<������=�@�=G�
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=���� 26 <������>�<��
����=����@I�
�ก�;
H���� 
=���� 9 <������>�<��
����=��78���� G��
=���� 30 <������>�<������=�
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X9E�H=��8�����=��
�6������ก���>�����>�����=�ก�

<��>� �8��
�;
��G;;ก�
<��>����H�� ��@A=
�=��
�6������ก���>�����>�����=�@�=G�

��?�D�
=���� 
25 �=��
�6������ก���>�����>�����=����@I�
�ก�;

H����?�D�
=���� 4 �=��
�6������ก���>�����>�����=�
�78����?�D�
=���� 1 G���=��
�6������ก���>�����>�
����=�
H����?�D�
=���� 0.37 �8��
�;
��G;;ก�

<��>����
�� ��@A=�=��
�6������ก���>�����>�����=�@�=
G�

��?�D�
=���� 19 �=��
�6������ก���>�����>�����=�
���@I�
�ก�;
H����?�D�
=���� 3 �=��
�6������ก��
�>�����>�����=��78����?�D�
=���� 0.93 G���=��
�6���
���ก���>�����>�����=�
H����?�D�
=���� 0.26   

� � ก �= � �
 � 6 � �� � �� ก �� �> � �� � �> � �� � �= � 
(A>���
�ก�ก
�������, 2552) ������
H�8������
�=��
�6������ก��<��ก�
<��>�J��T 2551 F;�>� ����>�
ก�
�8�?<=�����=�@�=G�

��?�>�ก�; 460,031,602 ;�� 
G������>�ก�
�8�?<=�����=����@I�
�ก�;
H����
?�>�ก�; 297,893,484 ;�� J�<����E����>�ก�
�>���ก
����=��78����?�>�ก�; 6,780,588,258 ;�� G������=�

H����?�>�ก�; 1,465,619,367 ;�� X9E��8�J�=�=��
�6�
�����ก��<��ก�
<��>����H�� X9E�?�D�
��G;;<��ก�

<��>�J��C��
;��?�D� 115,007,901 ;�� 8,936,805 
;�� 67,805,882 ;�� G�� 5,569,354 ;�� �8��
�;
ก�
<��>�����=���7���E�
�?������8�A�; G��
��?�D�  
197,319,942 ;��  J��>��<������=��
�?���KE� ^ 
X9E���A?�D�
=���� 31 <������>�ก�
�8�?<=�G���>���ก
��7���A ��กก�
�8����<=���=���@A=�=��
�6������ก��
�>�����>�����=�?�>�ก�;
=���� 2 �8�J�=�=��
�6������ก��
<������=��
�?���KE�^ ��ก��ก��E�
�?����Eก�>��
��G�=�?�D� 80,033,342 ;�� X9E�
���=��
�6������ก�� 
<��ก�
�8�?<=�G���>���กJ��T 2551 ��EA>���
�ก�ก

�������?�D� 277,353,284 ;�� 

J�ก
����E?���E��
��G;;ก�
<��>���กก�
<��>�
���H��?�D�ก�
<��>����
��G���8�������=��
� 
6������ก��J���ก:��?A���ก�;ก�
�8����<=���=� ��@A=
�=��
�6������ก��<��ก�
�8�?<=�G���>���กJ��T 2551 

��?�D� 243,924,290 ;�� 

A����7�H=�����
H?���E��
��G;;ก�
<��>���ก
ก�
<��>����H��?�D�ก�
<��>����
��@A= ���8�J�=

����
H�
����A@A= 33,428,994 ;���>��T �
K�
=���� 
12 G�>A=��<=��8�ก�AA=����������
H<��ก�
<��>�
���
��J��C��
;�� X9E�����
H<��>�@A=��7���7� 4 ?��E��
�>���� (@�-ก��; ?�=��������������ก?P���?��K�) 
6A�����
H��A?�D�����>�<������=���7���7��
���� 
23,715,000 ;���>���� �
K� 8,537,400,000 ;���>�
�T (360 ����>��T) X9E�J��C��
;��J�=���@���A?�D�
=���� 
75 X9E�?��K���������
HJ�ก�
<��>�?FKE��>���ก ��A
?�D�
=���� 25 �
K�����>� 2,134,350,000 ;�� G��H=�
6�
�ก�
���
H@I
����><�����
�Q;��J�?�=����
�������ก?P���?��K�G�=�?�
L�กL���8�J�=����
H<��>�
����=�?F�E�<97�@A=H9�
=���� 50 �
K���A?�D�����>� 
3,201,525,000 ;��   
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ก�
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H<��>�@A=
��>��
�A?
L� �
�?��� G��J��
������E��ก<97� ?F�E�
��������
HJ�ก�
G<>�<�����?�
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�?�� 
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<���?�=����ก�
J�=;
�ก�
G��?�KE���>�ก�;
�
�?��?FKE��;=�� ?FKE�ก�
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�<>�������� 
?�KE��6��G��?�=����ก�
�=�ก�;�
���ก�
�=�<��
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�?�� 
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�;ก�
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�=�
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ก�
J�=
�;;
H@I
����>?FKE�ก�
<��>�G��ก�
��Aก�
6�
�����ก�� �C��
;������?
L�?P��E�<��
H@I�
���� 50 - 
60 ก�6�?��
�>���E�6�� G�>������กJ�=
�;;
H@I
����>
����?
L�?P��E����
���� 80 - 100 ก�6�?��
�>�
��E�6�� X9E�����
H�A
���?���J�ก�
�8�?<=�G��
�>���ก@A=�
����?กK�;
=���� 50 ��>��@
กL��� 6A�

�;;
H@I
����>��?ก�A<97��
���������T 2553 G��
���8�J�=��������
HJ�ก�
<��>����
��?F�E�<97�?�D� 
8 ?��E���>���� G����������
HJ�ก�
;

�
ก@A=��ก
<97 ��
����
=���� 50 J�?�=�������
�������ก?P���?��K� 

ก�
<��>����H��J��C��
;��������>�J�=�>��J�
ก�
X>��;8�

�H��?�D�����>���E�� ���ก�>��T ��ก

�����B�ก�
A8�?������6�
�ก�
ก>��
=�� ;�
��G��
�
�;�

���� �
��8��T�;�
���� 2552 <��ก
����
���� ?PF���;�
�������;8�

�
�ก:�������� 
F;�>� J�=�;�
�������H9� 11,617 �=��;�� (ก
����
����, 2553) X9E�H=�?�
��;?���;ก�;�;�
����<��
ก�

H@IG�>��
�?��J��T 2553 ?PF���;�
���� 
�>��
�;�

����G����F�� J�=�;�
����1,662 �=��
;�� (ก�

H@IG�>��
�?��@��, 2553) ��ก<=����
?;K7���=� F;�>� �>�X>��;8�

�H�����ก�>��>�X>��;8�

�
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��G;;ก�
<��>����H��@�?�D�ก�
<��>����
�� 
?�KE����ก������
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